

14, 25

(سألا المسألة)

$$f(x) = \begin{cases} a + \sqrt{x^2} & x < 1 \\ b\sqrt{x^2} & x \geq 1 \end{cases} \quad x=1 \rightarrow a+1=b$$

(1, 25)

من سبب $f(x) = a + \sqrt{x^2} = a + |x| \Rightarrow f'(x) = 1 \quad f'(1) = 1$

من سبب $b \times \frac{x}{x} \Rightarrow f'(x) = \frac{r}{x} b x^{-\frac{1}{r}} \rightarrow f'_+(1) = \frac{r}{x} b$ $1 = \frac{r}{x} b \quad b = \frac{x}{r}$
 $a = b - 1 \Rightarrow a + b = b - 1 + b = 2b - 1 \quad a + b = 2b - 1 = r$

$$f(x) = \frac{r(r-x)}{x^{\frac{r}{r-1}}} \quad f'(x) = \frac{-rx^{\frac{r}{r-1}} - \frac{r}{x^{\frac{r}{r-1}}}(r-x)}{x^{\frac{r}{r-1}}} \Rightarrow f'(1) = -r$$

$$g(x) = \frac{r(x-1) + \sqrt{x}}{x^{\frac{r}{r-1}}} \rightarrow g'(1) = \frac{-1 + \frac{r}{x} \times 1 - (1 + \sqrt{x}) \cdot \frac{r}{x}}{x^{\frac{r}{r-1}}} \quad g'(1) = -\frac{1}{r} \quad -r - r(-\frac{1}{r}) = -1$$

(جواب ياسين لطف)

$$ab+c = \frac{1}{a} \quad f'(x) = \begin{cases} b & x < a \\ -\frac{1}{x^2} & x > a \end{cases} \Rightarrow f'_-(a) = b \quad f'_+(a) = -\frac{1}{a^2} \rightarrow b = -\frac{1}{a^2}$$

$$a(-\frac{1}{a^2}) + c = \frac{1}{a} \rightarrow c = \frac{r}{a} \rightarrow ac = r$$

$$x=a \rightarrow f(x) \sim \frac{1}{x} \quad f'(x) = \begin{cases} 0 & x < a \\ m(x-a)^{m-1} & x > a \end{cases} \quad f'_-(a) = 0 \rightarrow f'_+(a) \neq 0$$

$$m(a-a)^{m-1} \neq 0 \rightarrow m=1$$

$$(f \circ g)'(-\sqrt{r}) \quad Dg(-\infty, 0) \quad g(x) = \frac{1}{rx^{\frac{1}{r}}} \quad f(g(x)) = \frac{1}{\sqrt{\frac{1}{rx^{\frac{1}{r}}} + \frac{1}{rx^{\frac{1}{r}}}}} = \sqrt{x} = x$$

$$(f \circ g)'(x) = 1$$

$$-a - (-ra - a) = r \rightarrow -a + ra + a = r \rightarrow ra = r \rightarrow a = -\frac{r}{r}$$

$$f(r) = \frac{r}{r} \quad f(r) = -\frac{1}{r} \quad \frac{f(r)}{f'(r)} = -\frac{1}{r}$$

$$y = f(g(u)) \rightarrow y' = g'(u) f'(g(u)) \xrightarrow{u = \frac{r}{\sqrt{u}}} y' = g'(\frac{r}{\sqrt{u}}) f'(g(\frac{r}{\sqrt{u}})) \rightarrow y' = g'(\frac{r}{\sqrt{u}}) f'(r)$$

$$g(u) = \frac{1}{\sqrt{2r-1}} = (u^{\frac{1}{2}})^{-\frac{1}{2}} \rightarrow g'(u) = -\frac{1}{2} (u^{\frac{1}{2}})^{-\frac{3}{2}} \times \frac{1}{2} = -\frac{1}{4} u^{-\frac{3}{2}} = -\frac{1}{4} (2r-1)^{-\frac{3}{2}}$$

$$\textcircled{c} g'(g(r)) \times f'(g(g(r))) = (f \circ g)'(g(r)) g'(\frac{r}{\sqrt{u}}) = \frac{1}{r} \times \frac{r}{\sqrt{u}} (\frac{1}{u})^{-\frac{3}{2}} = \frac{1}{\sqrt{u}} \times r^{-\frac{3}{2}} = -\frac{r \times \sqrt{r}}{r^{\frac{3}{2}}} = -r\sqrt{r} \rightarrow g'(\frac{r}{\sqrt{u}}) = -\sqrt{r}$$

$$f(u) = 19u^2 + 1 \rightarrow f'(u) = 38u \rightarrow f'(r) = 38 \quad y' = g'(\frac{r}{\sqrt{u}}) f'(r) = -\sqrt{r} \times 38 = -38\sqrt{r} \rightarrow \text{بدرج } r$$

$$g(n) = f(n+1) + f(n+10) \rightarrow g'(n) = f'(n+1) + f'(n+10)$$

$$g'(r) = f'(-1) + r f'(2) \rightarrow f(n+10) = f(n) \Rightarrow f'(n+10) = f'(n) \rightarrow f'(2) = f'(-1)$$

$$g'(-1) = \frac{r}{r} + r(\frac{r}{r}) = 2 \quad \checkmark$$

$$f(n) = (n-2)\sqrt{n+5} = \sqrt{n+5} + (n-2) \times \frac{1}{2(\sqrt{n+5})^2}$$

$$\lim_{h \rightarrow 0} \frac{f(a+h) - f(a) + r}{h(a-h)} = \lim_{h \rightarrow 0} \frac{f(a+h) - f(a)}{a-h} \times \frac{f(a-h) - r}{-h} = \frac{f(a) - 1}{-1} (-f'(a))$$

$$\frac{1}{a} \times \frac{-ra}{1r} = \frac{-a}{1r} \quad \checkmark$$

$$4y - 3x = 1 \quad m = \frac{+r}{4} = \frac{1}{4} \quad \text{مماسه؟} = -r \quad y' = 2x - 2 = -r \rightarrow x = 1 \quad y = 2 \quad \checkmark$$

$$f(u) = \frac{1}{\sqrt{2u-1}} \xrightarrow{u=1} \frac{-2u+1}{\sqrt{2u-1}}$$

$$f'(u) = \left(\frac{-2u+1}{\sqrt{2u-1}} \right)' = \frac{-2(1) - \frac{r}{\sqrt{2u-1}}(r)}{\sqrt{2u-1}} \rightarrow f'(1) = \frac{-2(1) - \frac{r}{\sqrt{2u-1}}(r)}{1} = \frac{-1}{r}$$

$$g(u) = \frac{\sqrt{2u-1} + \sqrt{2u}}{\sqrt{2u-1}} = \frac{|u-1| + \sqrt{2u}}{\sqrt{2u-1}} \xrightarrow{u=1} \frac{(-u+1) + \sqrt{2u}}{\sqrt{2u-1}}$$

$$g'(u) = \frac{(-1 + \frac{r}{\sqrt{2u-1}})(1) - \frac{r}{\sqrt{2u-1}}(1 + \sqrt{2u})}{\sqrt{2u-1}} \rightarrow g'(1) = \frac{(-1 + \frac{r}{\sqrt{2u-1}}) - \frac{r}{\sqrt{2u-1}}(1 + \sqrt{2u})}{1} = -1 + \frac{r}{\sqrt{2u-1}} - \frac{r}{\sqrt{2u-1}} - \frac{r\sqrt{2u}}{\sqrt{2u-1}} = -\frac{r}{\sqrt{2u-1}} - \frac{r\sqrt{2u}}{\sqrt{2u-1}}$$

$$f'(1) - rg'(1) = \frac{-1}{r} - r \left(\frac{-1}{r} - \frac{\sqrt{2u}}{r} \right) = \frac{\sqrt{2u}}{r}$$